Contract 23-25 - South Koel	ler Street Concre	te Paving (#8617292)						
Owner: Oshkosh WI, City o								
Solicitor: Oshkosh WI, City								
John Common vii, City	7 01							
Bid Opening: 09/01/2023 11	-00 AM CDT							
Dia Opening. 05/01/2020 11	1 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2			+				
	+			+	Vinton Constru	ction Company	LaLonde Con	tractors Inc
					PO Bo	• •	LaLonue Con	tractors, rite.
					Manitowoc, W			
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
Section 1	item code	item Description	COLIVI	Qualitity	Chit i lice	\$943,863.39	Onit Trice	\$1,159,200.87
Section 1		Mobilization; complete as				\$743,003.39		\$1,139,200.67
	1050	specified	Lump Sum	1.00	\$73,200.00	\$73,200.00	\$87,045.46	\$87,045.46
	1030	Removing pavement;	Lunip Juni	1.00	\$73,200.00	\$73,200.00	\$67,040.40	Ф07,043.40
	1100	complete as specified	Square Yards	7,750.00	\$4.73	\$36,657.50	\$5.67	\$43,942.50
	1100	Removing curb and	Square raius	7,730.00	ψ4.75	\$30,037.30	\$5.07	\$45,742.50
		gutter; complete as						
	1110	specified	Linear Feet	200.00	\$5.00	\$1,000.00	\$5.50	\$1,100.00
	1110	Removing concrete and	Lincal I CCt	200.00	φ5.00	Ψ1,000.00	ψ0.50	Ψ1,100.00
		asphalt sidewalk and						
		driveway; complete as						
	1120	specified	Square Feet	5,800.00	\$1.00	\$5,800.00	\$1.06	\$6,148.00
	1120	Unclassified excavation;	oquare reet	3,000.00	Ψ1.00	φο/οσσίου	Ψ1.00	ψ0/110.00
	1200	complete as specified	Cubic Yards	2,200.00	\$17.93	\$39,446.00	\$23.29	\$51,238.00
		Excavation special		_,	42.00	407/22000	4-1-1-2	4-2/2-0100
		(paving); complete as						
	1220	specified	Tons	325.00	\$0.01	\$3.25	\$33.46	\$10,874.50
		8" concrete pavement			,	,	,	, .,.
		doweled; with 6" CABC						
		and grading; complete as						
	1314A	specified	Square Yards	7,700.00	\$56.61	\$435,897.00	\$65.64	\$505,428.00
		8" concrete pavement	1			·		
		HES removal and						
		replacement; including						
		sawing; pavement ties;						
		dowel bars; bond breaker;						
		integral curb and fine						
		grading; turf restoration;						
		and traffic control;						
	1319	complete as specified	Square Yards	1,520.00	\$91.82	\$139,566.40	\$116.00	\$176,320.00
		Concrete pavement gaps;				. ,		. ,
	1334	complete as specified	Each	8.00	\$0.01	\$0.08	\$1,213.67	\$9,709.36
		Crushed aggregate base						
		course; complete as						
	1340	specified	Tons	650.00	\$11.00	\$7,150.00	\$26.05	\$16,932.50
		Pavement ties; complete						
	1350	as specified	Each	17.00	\$10.00	\$170.00	\$13.26	\$225.42
		Drilled dowel bars; 1 1/4";						
	1354	complete as specified	Each	102.00	\$16.50	\$1,683.00	\$18.10	\$1,846.20

Contract 23-25 - South Koel	ler Street Concre	te Paving (#8617292)						
Owner: Oshkosh WI, City o		g, as a ,						
Solicitor: Oshkosh WI, City								
Bid Opening: 09/01/2023 11	-00 AM CDT							
Dia Opening. 05/01/2025 11								
					Vinton Constru	ation Company	LaLonde Con	tractors Inc
					PO Bo	. ,	Labolite Coll	tractors, fric.
Section Title	Item Code	Item Description	UofM	Quantity	Manitowoc, V Unit Price	Extension	Unit Price	Extension
Section Title	item Code	Adjust manholes and	COIM	Quantity	Unit Frice	Extension	Onit Frice	Extension
		,						
	1260	inlets; complete as	г	16.00	Ф400.00	#c 400.00	#F1 ( F0	#0. <b>2</b> 64.06
	1360	specified	Each	16.00	\$400.00	\$6,400.00	\$516.50	\$8,264.00
	1070	Turf restoration;	C 1/ 1	2 000 00	#14F0	# <b>2</b> 0,000,00	#0.00	#10.000.00
	1370	complete as specified Cold weather covering	Square Yards	2,000.00	\$14.50	\$29,000.00	\$9.00	\$18,000.00
		(concrete pavement) -						
		single visquine; complete			** **		****	
	1380	as specified	Square Yards	4,580.00	\$0.01	\$45.80	\$0.98	\$4,488.40
		Cold weather covering						
		(concrete pavement) -						
		double visquine;						
	1382	complete as specified	Square Yards	4,580.00	\$0.01	\$45.80	\$1.08	\$4,946.40
		Cold weather covering						
		(concrete pavement) -						
		double visquine with 6"						
		hay; complete as						
	1384	specified	Square Yards	4,580.00	\$0.01	\$45.80	\$2.45	\$11,221.00
		Up-charge for late season						
		cold weather concrete						
		pavement; complete as						
	1390	specified	Cubic Yards	2,040.00	\$0.01	\$20.40	\$7.70	\$15,708.00
		18" curb and gutter; 8";						
		with 6" CABC and						
		grading; complete as						
	1422	specified	Linear Feet	21.00	\$65.00	\$1,365.00	\$44.44	\$933.24
		24" curb and gutter; 8";						
		with 6" CABC and						
		grading; complete as						
	1432	specified	Linear Feet	21.00	\$65.00	\$1,365.00	\$46.17	\$969.57
		6" concrete sidewalk/						
		driveway/ramp (HES)						
		with 3" CABC and						
		grading; complete as						
	1514	specified	Square Feet	52.00	\$12.00	\$624.00	\$10.13	\$526.70
		8" concrete sidewalk/	•					
		driveway/ramp (HES)						
		with 3" CABC and						
		grading; complete as						
	1524	specified	Square Feet	4,900.00	\$9.47	\$46,403.00	\$9.78	\$47,922.00

Contract 23-25 - South Koel	ller Street Concre	te Paving (#8617292)						
Owner: Oshkosh WI, City		(*************************************						
Solicitor: Oshkosh WI, City								
outeron common (11) en	, 01							
Bid Opening: 09/01/2023 11	1:00 AM CDT							
Did Opening. 05/01/2025 11	I.00 MW CD I							
					Vinton Constru	stion Company	LaLonde Con	tractors Inc
							LaLonde Con	tractors, inc.
					PO Bo			
					Manitowoc, V			
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
		Drilled No. 4 sidewalk tie						
		bars - deformed; epoxy-						
		coated; complete as						
	1560	specified	Each	28.00	\$6.00	\$168.00	\$9.87	\$276.36
		Cold weather covering						
		(sidewalk) - single						
		visquine; complete as						
	1580	specified	Square Feet	2,480.00	\$0.01	\$24.80	\$0.44	\$1,091.20
		Cold weather covering						
		(sidewalk) - double						
		visquine; complete as						
	1582	specified	Square Feet	2,480.00	\$0.01	\$24.80	\$0.45	\$1,116.00
		Cold weather covering						
		(sidewalk) - double						
		visquine with 6" hay;						
	1584	complete as specified	Square Feet	2,480.00	\$0.01	\$24.80	\$0.55	\$1,364.00
		Up-charge for late season						
		cold weather concrete						
		sidewalk; complete as						
	1590	specified	Cubic Yards	122.00	\$10.00	\$1,220.00	\$7.70	\$939.40
		Locate existing property						
		monuments; complete as						
	1650	specified	Each	11.00	\$150.00	\$1,650.00	\$150.00	\$1,650.00
		Replace existing property						
		monuments; complete as						
	1652	specified	Each	6.00	\$50.00	\$300.00	\$50.00	\$300.00
		Sawing existing		1				
		pavement; complete as						
	1700	specified	Linear Feet	415.00	\$3.00	\$1,245.00	\$1.50	\$622.50
		Sawing concrete		1				
		pavement full depth;						
	1710	complete as specified	Linear Feet	130.00	\$3.50	\$455.00	\$2.25	\$292.50
		Tack coat; complete as						
	1900	specified	Gallons	7.00	\$3.00	\$21.00	\$2.50	\$17.50
<u> </u>		5" asphaltic surface MT	<u> </u>					<u> </u>
		with 6" CABC and						
		grading; complete as						
	1915	specified	Square Yards	100.00	\$85.00	\$8,500.00	\$113.02	\$11,302.00
<u> </u>		Asphaltic cold weather	<u> </u>					
		paving; complete as						
	1918	specified	Square Yards	96.00	\$0.01	\$0.96	\$22.80	\$2,188.80

Contract 23-25 - South Koel	ler Street Concre	te Paving (#8617292)						
Owner: Oshkosh WI, City o								
Solicitor: Oshkosh WI, City								
, , ,								
Bid Opening: 09/01/2023 11	:00 AM CDT							
3								
					Vinton Construct	tion Company	LaLonde Contr	actors Inc
					PO Box	2 0	Zuzoniue comi	
					Manitowoc, WI			
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
		Pavement markings;		2				
		epoxy; 4" (white);						
	1974	complete as specified	Linear Feet	708.00	\$2.10	\$1,486.80	\$2.10	\$1,486.80
	17/1	Pavement markings;	Efficul Teet	700.00	Ψ2.10	ψ1,100.00	Ψ2.10	ψ1,100.00
		epoxy; 4" (yellow);						
	1975	complete as specified	Linear Feet	3,500.00	\$2.10	\$7,350.00	\$2.10	\$7,350.00
	137.0	Pavement markings;	Efficial Feet	0,000.00	Ψ2.10	\$7,000.00	Ψ2.10	ψ, γοσοισο
		epoxy; 8" (white);						
	1976	complete as specified	Linear Feet	265.00	\$3.00	\$795.00	\$3.00	\$795.00
	1370	Pavement markings;	Efficial Feet	200.00	40.00	ψ, 70.00	\$0.00	φ, , σ. σ. σ
		cross-walk epoxy; 6"						
		(white); complete as						
	1977	specified	Linear Feet	155.00	\$25.00	\$3,875.00	\$25.00	\$3,875.00
		Pavement markings; stop-			4=0.00	40,0.0.0	42000	40,01010
		line epoxy; 18" (white);						
	1978	complete as specified	Linear Feet	42.00	\$32.00	\$1,344.00	\$32.00	\$1,344.00
		Pavement markings;			44=111	4-70	4.2	4-/
		arrow epoxy; Type 1						
		(white); complete as						
	1979	specified	Each	3.00	\$350.00	\$1,050.00	\$350.00	\$1,050.00
		Pavement markings;				42/000000	700000	4-/
		arrow epoxy; Type 2						
		(white); complete as						
	1980	specified	Each	3.00	\$375.00	\$1,125.00	\$375.00	\$1,125.00
		Pavement markings;			40.000	4-7	40.000	4-/
		arrow epoxy; Type 3						
		(white); complete as						
	1981	specified	Each	3.00	\$425.00	\$1,275.00	\$425.00	\$1,275.00
	1	Pavement markings;				.,		
	1	word; epoxy (white);						
	1983	complete as specified	Each	1.00	\$400.00	\$400.00	\$400.00	\$400.00
		Temporary pavement			,,	,		, ,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,
		markings; paint; 4"						
		(white); complete as						
	1985	specified	Linear Feet	2,500.00	\$1.00	\$2,500.00	\$1.00	\$2,500.00
	1	Pavement markings;				.,		. ,
		arrow epoxy; Type 1						
		(yellow); complete as						
	1989	specified	Each	2.00	\$350.00	\$700.00	\$350.00	\$700.00

Contract 23-25 - South Koell	ler Street Concre	te Paving (#8617292)						
Owner: Oshkosh WI, City o		te raving (#001/2/2/						
Solicitor: Oshkosh WI, City				+				
Solicitor. Oshkosh Wi, City	OI			+				
Bid Opening: 09/01/2023 11:	00 AM CDT			+				
bid Opening. 09/01/2023 11.	OU ANI CDI			-				
				-	Vinton Construe	tion Communi	LaLanda Can	inantono Tora
				<del>                                     </del>	Vinton Construc	• •	LaLonde Con	ractors, Inc.
					PO Box			
					Manitowoc, W			
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
		Pavement markings;						
		arrow epoxy; Type 2						
		(yellow); complete as						
	1990	specified	Each	2.00	\$375.00	\$750.00	\$375.00	\$750.00
		Furnish and install 12"						
		storm sewer; complete as						
	2003	specified	Linear Feet	80.00	\$94.00	\$7,520.00	\$96.00	\$7,680.00
		Furnish and install 18"						
		storm sewer; complete as						
	2009	specified	Linear Feet	120.00	\$110.00	\$13,200.00	\$85.00	\$10,200.00
		Furnish and install 24" x						
		38" HERCP Class III						
		storm sewer; complete as						
	2049	specified	Linear Feet	87.00	\$200.00	\$17,400.00	\$165.00	\$14,355.00
		Furnish and install 24" x						
		38" RCP Class III apron						
		endwall with joint ties;						
	2156	complete as specified	Each	1.00	\$2,190.00	\$2,190.00	\$3,200.00	\$3,200.00
		Furnish and install						
		standard storm sewer						
		manhole (4' diameter);						
	2201	complete as specified	Vertical Feet	4.00	\$989.00	\$3,956.00	\$1,300.00	\$5,200.00
		Furnish and install						
		standard storm sewer						
		manhole (6' diameter);						
	2203	complete as specified	Vertical Feet	5.00	\$1,345.00	\$6,725.00	\$1,750.00	\$8,750.00
		Furnish and install						
		standard storm sewer						
		inlet manhole (4'						
		diameter); complete as						
	2213	specified	Vertical Feet	4.25	\$996.00	\$4,233.00	\$1,450.00	\$6,162.50
		Furnish and install Type 3						
		inlet (with 18" sump);						
	2237	complete as specified	Each	3.00	\$3,145.00	\$9,435.00	\$3,650.00	\$10,950.00
		Furnish; install; maintain;						
		and remove Type D		1				
	1	modified inlet protection;						
	2508	complete as specified	Each	12.00	\$140.00	\$1,680.00	\$80.00	\$960.00

Contract 23-25 - South Koelle	er Street Concre	te Paving (#8617292)						
Owner: Oshkosh WI, City of		g ( 11 m )		1				
Solicitor: Oshkosh WI, City				<del> </del>				
Solicitor. Oshkosh 111, City	01							
Bid Opening: 09/01/2023 11:0	00 AM CDT			1				
Did Opening. 09/01/2023 11.0	OU AIVI CD I							
					Vinter Constant	ti C	LaLanda Can	torotono Toro
					Vinton Construc		LaLonde Con	tractors, Inc.
					PO Box			
					Manitowoc, W			
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
		Sediment removal - Type						
		D modified inlet						
		protection; complete as						
	2510	specified	Each	4.00	\$5.00	\$20.00	\$1.00	\$4.00
		Furnish; install; maintain;						
		and remove stone bag;						
	2516	complete as specified	Each	24.00	\$20.00	\$480.00	\$10.00	\$240.00
		Furnish; install; maintain;						
		and remove ditch check;						
	2522	complete as specified	Each	4.00	\$140.00	\$560.00	\$75.00	\$300.00
		Abandon 8" - 12" storm						
		sewer; complete as						
	2800	specified	Linear Feet	64.00	\$10.00	\$640.00	\$13.00	\$832.00
		Abandon 15" and larger						
		storm sewer; complete as						
	2802	specified	Linear Feet	157.00	\$24.00	\$3,768.00	\$21.00	\$3,297.00
		Abandon storm sewer						
		manholes and inlets;						
	2810	complete as specified	Each	1.00	\$500.00	\$500.00	\$500.00	\$500.00
		Connect to existing storm						
		sewer main; complete as						
	2850	specified	Each	1.00	\$1,000.00	\$1,000.00	\$2,500.00	\$2,500.00
		Storm sewer utility line						
		opening (ULO); complete						
	2914	as specified	Each	2.00	\$500.00	\$1,000.00	\$2,100.00	\$4,200.00
		Furnish and install						
		sanitary sewer external						
		manhole chimney seal;						
	3114	complete as specified	Each	4.00	\$555.00	\$2,220.00	\$725.00	\$2,900.00
		Furnish and install						
		sanitary sewer external						
		manhole chimney seal						
		extension; complete as						
	3116	specified	Each	1.00	\$360.00	\$360.00	\$600.00	\$600.00
		Reconstruct sanitary						
		sewer manhole (4'						
		diameter); complete as						
	3122	specified	Vertical Feet	7.10	\$592.00	\$4,203.20	\$1,200.00	\$8,520.00

Contract 23-25 - South Koeller	Contract 23-25 - South Koeller Street Concrete Paving (#8617292)							
Owner: Oshkosh WI, City of								
Solicitor: Oshkosh WI, City of								
Bid Opening: 09/01/2023 11:00	AM CDT							
					Vinton Constru	Vinton Construction Company		ntractors, Inc.
					PO Bo	x 1987		
					Manitowoc, V	VI 54221-1987		
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
		Closed circuit televising -						
		using push camera;						
	3710	complete as specified	Each	1.00	\$600.00	\$600.00	\$250.00	\$250.00
Bid Total:						\$943,863.39		\$1,159,200.87

Contract 23-25 - South Koel	lar Straat Concret	to Paving (#8617202)				
		le 1 aving (#801/292)		-		
Owner: Oshkosh WI, City o				-		
Solicitor: Oshkosh WI, City	of					
D' 1 O ' 00/04/2022 44	00 AM CDT			+		
Bid Opening: 09/01/2023 11	:00 AM CD1			+		
						4.04
					Michels Road	& Stone, Inc.
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension
Section 1		2.7.111				\$1,163,042.94
		Mobilization; complete as				
	1050	specified	Lump Sum	1.00	\$110,251.00	\$110,251.00
		Removing pavement;				
	1100	complete as specified	Square Yards	7,750.00	\$4.15	\$32,162.50
		Removing curb and				
		gutter; complete as				
	1110	specified	Linear Feet	200.00	\$4.30	\$860.00
		Removing concrete and				
		asphalt sidewalk and				
	4420	driveway; complete as			40.00	<b>45.00</b> 0.00
	1120	specified	Square Feet	5,800.00	\$0.90	\$5,220.00
	1200	Unclassified excavation;	61: 1/ 1	2 200 00	#15.00	#24 000 00
	1200	complete as specified	Cubic Yards	2,200.00	\$15.90	\$34,980.00
		Excavation special				
	1220	(paving); complete as specified	Т	225.00	¢10.00	ф. ( 175 OO
	1220	8" concrete pavement	Tons	325.00	\$19.00	\$6,175.00
		doweled; with 6" CABC				
		and grading; complete as				
	1314A	specified	Square Yards	7,700.00	\$62.65	\$482,405.00
	1314A	8" concrete pavement	3quare rarus	7,700.00	\$02.03	Φ402,403.00
		HES removal and				
		replacement; including				
		sawing; pavement ties;				
		dowel bars; bond breaker;				
		integral curb and fine				
		grading; turf restoration;				
		and traffic control;				
	1319	complete as specified	Square Yards	1,520.00	\$134.66	\$204,683.20
	1319	Concrete pavement gaps;	3quare rarus	1,520.00	\$134.00	\$204,003.20
	1334	complete as specified	Each	8.00	\$500.00	\$4,000.00
	1334	Crushed aggregate base	Latti	3.00	φ500.00	φ±,000.00
		course; complete as				
	1340	specified	Tons	650.00	\$11.80	\$7,670.00
	1010	Pavement ties; complete	1015	000.00	ψ11.00	ψ1,010.00
	1350	as specified	Each	17.00	\$15.50	\$263.50
	1000	Drilled dowel bars; 1 1/4";	Lucii	17.00	Ψ10.00	\$200.00
	1354	complete as specified	Each	102.00	\$18.50	\$1,887.00
	1001	Table as specified	Duci	102.00	\$10.50	\$2,507.00

Contract 23-25 - South Koell	er Street Concre	te Paving (#8617292)				
Owner: Oshkosh WI, City of				1		
Solicitor: Oshkosh WI, City						
Solicitor. Comkosii vvi, City	1					
Bid Opening: 09/01/2023 11:	00 AM CDT					
Bid Opening. 05/01/2023 11.	OU THIN CD I					
					Michels Road	l- Ctono Inc
					Witchels Road	& Stone, mc.
Section Title	Item Code	Itam Description	UofM	Outsitus	Unit Price	Extension
Section Title	Item Code	Item Description Adjust manholes and	COIM	Quantity	Unit Frice	Extension
		inlets; complete as				
	12/0	-	E. J.	16.00	¢1 200 00	#10. <b>2</b> 00.00
	1360	specified	Each	16.00	\$1,200.00	\$19,200.00
	1270	Turf restoration;	0 1/ 1	2 000 00	244.05	422 000 00
	1370	complete as specified	Square Yards	2,000.00	\$11.95	\$23,900.00
		Cold weather covering				
		(concrete pavement) -				
		single visquine; complete				
	1380	as specified	Square Yards	4,580.00	\$0.25	\$1,145.00
		Cold weather covering				
		(concrete pavement) -				
		double visquine;				
	1382	complete as specified	Square Yards	4,580.00	\$0.50	\$2,290.00
		Cold weather covering				
		(concrete pavement) -				
		double visquine with 6"				
		hay; complete as				
	1384	specified	Square Yards	4,580.00	\$0.75	\$3,435.00
		Up-charge for late season				
		cold weather concrete				
		pavement; complete as				
	1390	specified	Cubic Yards	2,040.00	\$5.50	\$11,220.00
		18" curb and gutter; 8";				
		with 6" CABC and				
		grading; complete as				
	1422	specified	Linear Feet	21.00	\$62.60	\$1,314.60
		24" curb and gutter; 8";			,	, ,
		with 6" CABC and				
		grading; complete as				
	1432	specified	Linear Feet	21.00	\$63.10	\$1,325.10
	1102	6" concrete sidewalk/	Zincui i ccc	21.00	\$00.10	ψ1,626.16
		driveway/ramp (HES)				
		with 3" CABC and				
		grading; complete as				
	1514	specified	Square Feet	52.00	\$12.72	\$661.44
	1014	8" concrete sidewalk/	oquare rect	52.00	Ψ12./2	Ψ.100ψ
		driveway/ramp (HES)				
		with 3" CABC and				
		grading; complete as				
	1524	specified	Square Feet	4,900.00	\$12.62	\$61,838.00
	1,724	эрссиеч	oquare reet	4,700.00	ψ12.02	ф01,030.00

Contract 23-25 - South Koelle	er Street Concret	te Paving (#8617292)				
Owner: Oshkosh WI, City of	1	g ( 11				
Solicitor: Oshkosh WI, City						
Solicitory Common 1117 City	<u> </u>					
Bid Opening: 09/01/2023 11:0	OO AM CDT					
Bid Opening. 05/01/2025 11.0	T T					
					Mishala Dasal	0- Chana Ina
					Michels Road	& Stone, Inc.
O at mid	* 0.1	v. 5	*** ***	0 "	** t. D. !	T
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension
		Drilled No. 4 sidewalk tie				
		bars - deformed; epoxy-				
		coated; complete as				
	1560	specified	Each	28.00	\$15.50	\$434.00
		Cold weather covering				
		(sidewalk) - single				
		visquine; complete as				
	1580	specified	Square Feet	2,480.00	\$0.25	\$620.00
		Cold weather covering	•			
		(sidewalk) - double				
		visquine; complete as				
	1582	specified	Square Feet	2,480.00	\$0.50	\$1,240.00
	1002	Cold weather covering	oquare rece	2,100.00	φοισσ	\$1,210.00
		(sidewalk) - double				
		visquine with 6" hay;				
	1584		Causano Essat	2,480.00	\$0.75	\$1,860.00
	1364	complete as specified Up-charge for late season	Square Feet	2,400.00	Φ0.75	\$1,000.00
		cold weather concrete				
		sidewalk; complete as				
	1590	specified	Cubic Yards	122.00	\$5.50	\$671.00
		Locate existing property				
		monuments; complete as				
	1650	specified	Each	11.00	\$150.00	\$1,650.00
		Replace existing property				
		monuments; complete as				
	1652	specified	Each	6.00	\$50.00	\$300.00
		Sawing existing				
		pavement; complete as				
	1700	specified	Linear Feet	415.00	\$1.39	\$576.85
		Sawing concrete				
		pavement full depth;				
	1710	complete as specified	Linear Feet	130.00	\$1.95	\$253.50
		Tack coat; complete as			* ***	,
	1900	specified	Gallons	7.00	\$2.50	\$17.50
		5" asphaltic surface MT		7.00	Ψ2.00	417.00
	1	with 6" CABC and				
		grading; complete as				
	1915	specified	Sauaro Vando	100.00	\$113.70	\$11,370.00
	1913	Asphaltic cold weather	Square Yards	100.00	\$113.70	\$11,370.00
	1	•				
	1010	paving; complete as	C 1	06.00	# <b>22</b> 00	<b>#0</b> 100 00
	1918	specified	Square Yards	96.00	\$22.80	\$2,188.80

9/1/2023

Contract 23-25 - South Koelle	or Street Concret	to Paving (#8617202)				
Owner: Oshkosh WI, City of	_	le 1 aving (#601/292)		<del>                                     </del>		
Solicitor: Oshkosh WI, City o	1			+		
Bid Opening: 09/01/2023 11:0	00 AM CDT					
574 opening. 05/01/2020 110	11111 02 1					
					Michels Road &	& Stone, Inc.
						,
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension
		Pavement markings;				
		epoxy; 4" (white);				
	1974	complete as specified	Linear Feet	708.00	\$2.10	\$1,486.80
		Pavement markings;				
		epoxy; 4" (yellow);				
	1975	complete as specified	Linear Feet	3,500.00	\$2.10	\$7,350.00
		Pavement markings;				
		epoxy; 8" (white);				
	1976	complete as specified	Linear Feet	265.00	\$3.00	\$795.00
		Pavement markings;				
		cross-walk epoxy; 6"				
		(white); complete as				
	1977	specified	Linear Feet	155.00	\$25.00	\$3,875.00
		Pavement markings; stop-				
		line epoxy; 18" (white);				
	1978	complete as specified	Linear Feet	42.00	\$32.00	\$1,344.00
		Pavement markings;				
		arrow epoxy; Type 1				
		(white); complete as				
	1979	specified	Each	3.00	\$350.00	\$1,050.00
		Pavement markings;				
		arrow epoxy; Type 2				
		(white); complete as				
	1980	specified	Each	3.00	\$375.00	\$1,125.00
		Pavement markings;				
		arrow epoxy; Type 3				
		(white); complete as				
	1981	specified	Each	3.00	\$425.00	\$1,275.00
		Pavement markings;				
		word; epoxy (white);				
	1983	complete as specified	Each	1.00	\$400.00	\$400.00
		Temporary pavement				
		markings; paint; 4"				
		(white); complete as				
	1985	specified	Linear Feet	2,500.00	\$1.00	\$2,500.00
		Pavement markings;				
		arrow epoxy; Type 1				
		(yellow); complete as				
	1989	specified	Each	2.00	\$350.00	\$700.00

Contract 23-25 - South Koeller	Street Concret	te Paving (#8617292)				
Owner: Oshkosh WI, City of						
Solicitor: Oshkosh WI, City of						
Solicitor: Oslikosli Wi, City of						
Bid Opening: 09/01/2023 11:00	AMCDT					
Bid Opening: 09/01/2023 11:00	AMCDI					
					NC 1 1 D 1	0. Ct T
					Michels Road	& Stone, Inc.
Carlia - Tida	Itani Cada	Itan Danielia	II-OM	0	Had Date	Totana'an
Section Title	Item Code	Item Description Pavement markings;	UofM	Quantity	Unit Price	Extension
		arrow epoxy; Type 2				
		(yellow); complete as				
	1990	specified	Each	2.00	\$375.00	\$750.00
		Furnish and install 12"				
		storm sewer; complete as				
	2003	specified	Linear Feet	80.00	\$87.00	\$6,960.00
		Furnish and install 18"				
		storm sewer; complete as				
	2009	specified	Linear Feet	120.00	\$98.00	\$11,760.00
		Furnish and install 24" x				
		38" HERCP Class III				
		storm sewer; complete as				
	2049	specified	Linear Feet	87.00	\$185.00	\$16,095.00
		Furnish and install 24" x				
		38" RCP Class III apron				
		endwall with joint ties;				
	2156	complete as specified	Each	1.00	\$3,652.00	\$3,652.00
		Furnish and install				
		standard storm sewer				
		manhole (4' diameter);				
	2201	complete as specified	Vertical Feet	4.00	\$1,023.00	\$4,092.00
		Furnish and install				
		standard storm sewer				
		manhole (6' diameter);				
	2203	complete as specified	Vertical Feet	5.00	\$1,551.00	\$7,755.00
		Furnish and install			. ,	. ,
		standard storm sewer				
		inlet manhole (4'				
		diameter); complete as				
	2213	specified	Vertical Feet	4.25	\$1,023.00	\$4,347.75
		Furnish and install Type 3	, , , , , , , , , , , , , , , , , , , ,		4-/	4 -/
		inlet (with 18" sump);				
	2237	complete as specified	Each	3.00	\$2,399.00	\$7,197.00
		Furnish; install; maintain;		2.03	φ2,000.00	Ψ,,127,00
		and remove Type D				
		modified inlet protection;				
	2508	complete as specified	Each	12.00	\$115.00	\$1,380.00
	2000	complete as specified	Buch	12.00	\$115.00	φ1,300.00

Contract 23-25 - South Koelle	r Street Concre	te Paving (#8617292)				
Owner: Oshkosh WI, City of	1					
Solicitor: Oshkosh WI, City o	<u> </u>					
Solicitor. Oshkosh VVI, City o	1					
Bid Opening: 09/01/2023 11:00	0 AM CDT			+		
Bid Opening: 09/01/2023 11:00	O AWI CDI					
					MC-1IDI	0 Ct T
				<u> </u>	Michels Road	& Stone, Inc.
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension
Section Title	Helli Code	Sediment removal - Type	COLIVI	Qualitity	Omtrice	Extension
		D modified inlet				
		protection; complete as				
	2510	i	E. J.	4.00	¢Ε0.00	# <b>2</b> 00.00
	2510	specified Furnish; install; maintain;	Each	4.00	\$50.00	\$200.00
	2516	and remove stone bag;	E. J.	24.00	¢15.00	#240.00
	2516	complete as specified Furnish; install; maintain;	Each	24.00	\$15.00	\$360.00
	2522	and remove ditch check;	г	4.00	# C F 00	#2(0.00
	2522	complete as specified Abandon 8" - 12" storm	Each	4.00	\$65.00	\$260.00
	2000	sewer; complete as			405.00	#4 (00 00
	2800	specified	Linear Feet	64.00	\$25.00	\$1,600.00
		Abandon 15" and larger				
		storm sewer; complete as				
	2802	specified	Linear Feet	157.00	\$45.00	\$7,065.00
		Abandon storm sewer				
		manholes and inlets;				
	2810	complete as specified	Each	1.00	\$900.00	\$900.00
		Connect to existing storm				
		sewer main; complete as				
	2850	specified	Each	1.00	\$900.00	\$900.00
		Storm sewer utility line				
		opening (ULO); complete				
	2914	as specified	Each	2.00	\$1,200.00	\$2,400.00
		Furnish and install				
		sanitary sewer external				
		manhole chimney seal;				
	3114	complete as specified	Each	4.00	\$2,496.00	\$9,984.00
		Furnish and install				
		sanitary sewer external				
		manhole chimney seal				
		extension; complete as				
	3116	specified	Each	1.00	\$900.00	\$900.00
		Reconstruct sanitary				
		sewer manhole (4'				
		diameter); complete as				
	3122	specified	Vertical Feet	7.10	\$1,284.00	\$9,116.40

Contract 23-25 - South Koeller	Street Concret	te Paving (#8617292)				
Owner: Oshkosh WI, City of						
Solicitor: Oshkosh WI, City of						
Bid Opening: 09/01/2023 11:00 AM CDT						
					Michels Road & Stone, Inc.	
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension
		Closed circuit televising -				
		using push camera;				
	3710	complete as specified	Each	1.00	\$5,400.00	\$5,400.00
Bid Total:						\$1,163,042.94